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Question One

Short questions

Match the term in column A with its definition in column B. Use the answer grid below for your answers — write the
letter next to the question number. There are less terms than definitions.

Column A Column B
11 browser cache “A\ | That part of the operation system that is always kept in RAM.
1.2 kernel B | This memory extends the number of addresses that RAM has — pages can be
| swopped between RAM and the hard drive. -
13 interpreter ‘G\ The time taken for a component to respond to a request for service — this
time should be as short as possible.
1.4 SATA B\ | Instead of reading a program line by line from a slow hard drive, several lines
are read so subsequent reads are faster.
1.5 buffer E | Stores the programs and data currently being used.
1.6 multitasking F | The program that performs the boot sequence which ends with the entire
operation system being loaded. |
1.7 latency §_ | Asignal sent to the CPU from hardware or software indicating the need for
the CPU’s attention.
1.8 CMOS H | A-parallel bus that connects all components on the mother board.
1.9 disk cache ™, | When you visit a website, a copy is kept here to increase performance should
you visit the same website in future.
1.10 | interrupt J | Atemporary storage area in RAM to hold data coming in and going out to
| compensate for momentary-delays.
™ | A battery backed, volatile memory that stores hardware and user settings
that are loaded on boot up.
“h\, | Software that reads each a program line, converts it to machine code,
executes it and then moves onto the next line.
W, A computer bus interface used to connect mass storage devices {(mechanical
| orsolid state) to a computer motherboard.
N | Atechnique used by the operation system to appear to be running several
programs simultaneously.
(10)
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Question two Hardware

Busses connect all the computer components, but they operate at different speeds and connect different types of
hardware to the computer system.

2.1) Fill in the table below. Note that the internal bus is also known as the front side bus (FSB) or system bus.

A B C D
Types of Write “internal | Does this Briefly describe what each bus does mentioned in column A. If ]
busses. bus” or bus offer a | relevant you can also mention the type of components, you
“external bus”. | direct would expect to find connected to the bus in question.
connection
between
the CPU to
the RAM? ,
Write Yes I
(I or No. :
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Types of Write “internal | Does this Briefly describe what each bus does mentioned in column A. If
busses - bus” or bus offera | relevant you can also mention the type of components, you
continued. | “external bus” direct ‘would expect to find connected to the bus in question.
connection
between
the CPU to
the RAM?
Write Yes
or No. |

Data bus "f\teff/\a,/ 7&5 {fﬂ,\s -‘»&rs He l‘nstfuae:ofxs

dota between KAm and tle
CPu.

Addressbus | = ol 765 Trar\sfds tie address of
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Universal
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(22)
2.2) Refer to Addendum A question 2.2. There is diagram A and diagram B. .
2.2.1) Explain which one illustrates hyperthreading — A or B? A . (a e A L— (/( to
Nrocess Lo A two “ots o reqgi<l ers
C Pt Swo fs #”DM One. <t D// fﬁj (st <
tn annther. o€ Simultancoes execrtion
2.2.2) Explain which one illustrates parallel processing — A or B? l% . ﬂ) o A L A
A /| oLy ( 4 j 6u ) OO !,’} oCecgses o Le &xr c.)('e.ar"

o k tle <=4, e j{ .r‘ s -

(3)
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2.3} Examine the three computers in Addendum A - see Question 2.3. We are going to compare the theoretical
performances of computers 1, 2 and 3 with one another. Combining all your knowledge about computer
architecture, cache memory, shared memory, hyperthreading, multiprocessing, registers, bus speeds etc, answer the
following three questions.

_/
2.3.1) Which one would offer the best performance? (1,2 or 3). Explain. Ia /l,u o Core s, CJCZ
ot bt Chesr pwn AcicAl L, L2 a /A /3
Chdchbe Ine mpy e

(3)
2.3.2) Which one would offer mid-range performance? (1,2, or 3). Explain. 2 . ///wc CoOre S
o bl €5 Own L Cocle premore - L2
CAlhe tresnon, (5 Lubtsde (Z. CPa <Aip
f‘aA (s <hn r&f{ /:.*—7 L Cwo COre S. (3)
2.3.3) Which one would offer the lowest performance? (1,2, 0r3). Explain. - (O oy e
(6 ce . L2 cache (s Oubs:de (& Cpu
ek 2 (2) 351

Question three System Software

3.1) The boot up process. Describe four advantages of UEFI over traditional BIOS. k(/t n < //t' 3 2
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3.2) Study the image in Addendum B question 3.2 and explain whether this illustrates hyperthreading, muititasking,
multithreading, or multiprocessing? /. | £ Lo </l fdx hel &5 /) (= <

/)/9 Gfé(rvxs A re lOAM ;/v(‘o '&Ae:f ) N\
fY\e.MOrcj ‘%{ﬂace_._ ) ﬂlq'/h,(/(ée/ CA~ St bk
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(3)

3.3) Study the image in Addendum B question 3.3 and explain what is meant by virtual memory.
fA_)/\e,f-‘ COEmple, (i1rs /DL:J Ve ﬂé”/fﬂ\ m €m0 Y
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Question four Networking overview

ot

Write “node”, “connecting device”, “connection media”, “topology” or “internet protocol” in column B, next to each
of the words in the column A

4.1)
Column A ColumnB
Personal computer
node
NIC . .
Co hnay{ﬁ/tg); At Uicee
TCP/IP . J
- | NEern At {/)/afac_of
bus
topologyy
Switch .
(onneAira Ae Ui
DHCP . =4
I n {-e.//\r/(' ro€E~rco /
Server !
n &d{ <
Printer
N ode
Radio waves

Conne=_tion M&zx{ | o
(O opnechtion pmed a
f\o/{e/

NFC (near field communication)

Mobile devices

t
- Eppoloa—
7 = 4
uDP . /
| . jntern X  Jrptocs |
laptop No A - 1
Router .
C-Dhl\e—d{":ﬂﬁ Q{CVIC,Q
Bridge

Co V\r\caué'.";ﬂg a{,:ufr e
connection media

Shielded twisted pair

Workstation A

N DA & P
ARP .

| nternah fﬂroéocn (
ring

‘L:D,ﬂ olo A
Fibre optic .

Conne A LD A me Aia
hybrid

to polo 6y,
Bluetooth N ! 7
i INternet Nrplncol
Network interface card - .

(onnech ~a cuvic e
repeater . ~

(e nn A, f\—‘f‘f evi.ce
DNS {domain name service) -

| n Eernet Nrptocol

(26 divide by 2)




4.2} Internet protocols. Write TCP or UDP next to each situation below.

4.2.1) When watching a movie on Netflix (a streaming media service) which internet protocol will be .used? u ll (1)

/
4.2.2) When downloading an application to install on your local computer.  ~ / € P (1)
4.2.3) When chatting to someone on your mobile phone using WhatsApp. [OD i (1)
— )
4.2.4) When sending email to a friend. | € f) (1)
4.2.5) When submitting your assignment on Ms Teams. 7 ¢ P (1)

4.3) Generally, when creating a LAN in a local area (schoo! or office) which popular networking technology are you
likely to use? < E Ae (f\(/t (1)

4.4) Generally, when creating a LAN in a local area (school or office) which popular networking topology are you

likely to use? S Earr (1)
4.5) Generally, when creating a LAN in 3 local area (school or office) which popular IP addressing system are you
likely to use? | cf ’! A (1) [21]
Question 5 Scenario with reference especially to networking

The Free State country town Rhese has a declining population. It has a solid but old-fashioned infrastructure that is
falling into disuse. The only large buildings are the town hall, the old movie theatre, and a church while the rest of
the town is made up of single-story buildings that are either shops along the main street or houses. The town is
divided down the middle by the Vaal River; the commercial side of the town is on one side of the river while the
houses tend to be on the other side. The whole region around the town is very flat, The nearest large city is
Bloemfontein 40 kms away which has a modern and sophisticated IT infrastructure.

It is decided to use the existing town infrastructure and open a satellite campus of the University of Free State (ufs)
which is found in Bloemfontein. The university’s IT network can be extended to the town.

5.1) What would be the best way to link the university network to the town? Explain your answer.
Un Aer GL0 e d Libre pf,;?f'[r bacl bone
L ne of ‘S}fL--f /i eh)JA\sze .

(2)

5.2) Once linked to the city the entire town is going to be networked. What are the advantages of creating such a
network both for students as well as for the university?

}a‘fc—— <h&rirag. ﬂ.CSC?{j rec {/\A r. o (ﬁ //Jéofa/(‘:'(),\
- Jl . J
Crnmntralisah ion. Com municetinn
Netesork goplicihAiong . [C)]e. “clarage

0
Dats Eran s }'L./ . froduc bt —

(4)




5.3) The town hall is going to be divided into offices to house the university administration.

5.3.1) ALAN is going to be created that will give access to the universities main central database in the city. Each

office will have a desktop computer. These offices need maximum IT security to protect valuable university data as

well as student data. Describe how you would design this network to ensure maximum security, speed,

convenience, and reliability. Mention the networking topology, the network technology, the cabling, and the

connection devices that you would use. e
Y L
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(8)

5.3.2) Cost is always an issue. Some feel that a bus topology, which is cheaper to install would be a good choice. You
feel that a star topology, although more expensive is a better option. Explain the advantages of a star topology over

a bus topology. /
Eaic o Epplle shopb. Whe. [here (s a

. ‘ . : (Ea
’[ﬁ-’ : /u £ o~ ./:rr Dere . (114 f&/’{";ar\ { € 4#%&9{“34
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(4)

5.3.3) The town hall is going to need several high-powered servers to create a client-server environment for
university administration staff. Which type (not brand) of servers would you install? Explain the function of each
server and how it fulfils the needs of the connected client workstations.
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5.4) The houses on the other side of the river are going to be used for student accommodation.

5.4.1) Explain why UTP cabling cannot be used to network the two sides of the town together.

Di_g tance 15 Epo 4%—«—' fo€ an Da ts;é(eﬂh\eﬂll'a~

(2)

5.4.2) If UTP cannat be used which alternative would you use to extend the university network to the student
accommodation on the otherside of theriver? _F (L re- oo €t/c. c s [ le MNOu ed(

. ]
Dr~ é’lgf ér:‘p{je/ t.VAa_./.r Crogses m rives.

i

f"" [ C @ (AP v E— Co.a l.«'; 6!.'150 /”)(’ C( <£.ﬂ4..

(2)

5.4.3) Students are going to need internet, email, research tools, use the administrations services etc from their
student accommodation. What IT networking infrastructure would you install in each student residence to serve
their needs? Be specific about the hardware devices or device that you would need to install in each house.
AD%L e Fibire to €ald Rovse .- Wircless Fecess

(o in Eal re»*—:)}/((/r\c:.c, t> !ﬂfot/fg(e, =

()

5.4.4) The town aims to have over 1000 students living in student accommodation in the various houses converted
to meet this need. You cannot have 1000 nodes on one network so the network will have to get divided into
segments — each house would be a segment. Which hardware device do we use to join segments together?

A/I/(ﬁa- (1)

5.5) The whole network will continue to use TCP/IP just like the city campus. As each node logs on to the system in
the morning it is automatically allocated an IP address from a pool of available address. What do we call this protocol
that allocates IP addresses to nodes?

DItcr &

5.6) The University of Free State has a website i.e. “ufs.ac.za” (the domain name).

5.6.1) The IP address of this website is “146.182.9.12” What do we call the service that links the IP address with the
domain name?

NN i
5.6.2) Is this IP address “146.182.9.12” IPv4 or IPv6. Explain your answer. jp v 4. ( 32 4 (& 5/)
— . -
TPv6 (128 boes) €ight g (0 upsS ot

, /
e-& ('-"1 S, rY é/‘




5.7) Security is always an issue. If illegal activity is detected on the network the IP manager can query the OSI model,
going down to the data link layer to find the MAC address of the culprit. Why would this identify the exact

identify it? L/’ LA S dre
computer? Why could you not use the IP address to identify the culprit? =L /' #£ /A Ares e

{;/\/-‘ i‘ff‘,{'l. ij‘;; * HCP- /?\/ic 4/4‘( esS |5 fj&/ﬂi’
O {” o é’xe, }‘\4‘ WOrk Ca---rz{ OOL X érﬂ ec, ﬁ '
(Op pun ler (2)

5.8) Despite the convenience of WiFi it has considerable disadvantages over a traditional Ethernet copper cabled
LAN. List three disadvantages of WiFi versus Ethernet

Llower. Not as refiahle-. Npve ﬂ’r‘vz/:c:a/(—
E2> Erpable cAoot. MNot 62 Lecure.

(3)

5.9) University administrators require all students to own a device which will allow Ms Teams to run. Why do you
think the university thinks this is important? What functionality does Ms Team offer that would benefit both the
students and the university?

(0 ;'Y\ M4 N 1. /.&f‘ ; 12 la "{,, ,;é/\ 1."\ J’(C—,Wﬂ'/f[% &“ts
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5.10) “Students on-the-go will usually connect to the university network using 3G, LTE or 4G”. What does this
statement mean?

Aese e celly lar techknologies.
5(’“6\&(2\/{”.5 Car- (Ao [(Keir ot

e\ C s n’\zmé ,‘ /@ o’{ e\vices o CoOnn e.a){ (1)
too EZe et work !‘—«5‘;-',—-3 e UM ca A
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5.11) Internet protocols. Some protocols are used for email. Some protocols are used to transfer webpages from
the server to the web browser. Some protocols are used to download and upload files from a website. Some
protocols can be used to edit a website on the server (without having to download it).

5.11.1) Write — email, transfer, download/upload or edit next to each of the following protocols. (7)
Internet protocol What it is used for?
SMTP '
e/y’-r\ﬁ \ ,
HTTPS £
trans fer
WebDAV \
ed ¢t
FTP
ﬂ(éwr\ /oaa/ / (O} ﬂ/oa/(
POP3 / 4
& pn a4 /
HTTP
éffﬁ ~ 3 £ 27
IMAP .
e/’\"‘- Ay ./

Section Six

[48]

Solutions development

6.1) Methods analysis table for the charAt method in Java.

Fill in the methods analysis table for “charAt” below.

Name of the method

charAt

Pl

" Describe what the method does.

ﬂ\@ew,\s Orc C/Aa/ay@_/ [fo»—r\
~ 8P ecific [706 1Eiom L—

To which class does the method belong?

éf/}M ‘/

Is the method static or non-static?

Non 5 Eat/ ¢ —

Does the method accept arguments /
parameters?
If so, what datatype does it accept?

\/@,S : ALL‘c,a Es I'n ﬁ’erg er L./'

Does the method offer a return value?
If so, what datatype does it return?

\765. ﬂ\e,eu,rns G c./m.ray@f/

/

Give your own example of how you would
use charAt in a program you were writing

|
Char initial =

mylame . char i} C(o)

(8)
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6.2)

| Java “for loop” advanced example o
The following is a legal line of Java code showing an example of an advanced version of the “for loop”

for(int i = 10,7 = 100; (i < 60) && (J »= 20); i++, j--){
Block of code goes here;
}

So, each of the three sections of the “for loop” are allowed to have more than one expression. We are going to
use this knowledge in the pseudocode algorithm below.

. Expla_ﬂation of the algorithm Diagram A
We have two integer arrays. The first

element of the one array must be added to 2 4 3 7 4 6
the last element of the other array. The SN\ S e
second element of the one array must be
added to the second last element of the

“— . DJ a ‘ A‘ -
other array, etc v 3 6 2 5 6 1

Finally, the six values arrived at should be 3+10+8+9+10+9=49
added together creating a final value for
| total.

A loop similar the Java “for loop” above would be useful for this application.

Here is the pseudocode version, shown with line numbers

1 integerArrl = {2,4,3,7,4,6}

2 integerArr2 = {3,6,2,5,6,1}

3 total = 0

4 for (1 =0, J =5; i < 6; i++, j--)
5 begin

6 total = total + (i + j)

7 end

8 display (“The total is ™ + total)

The results of the pseudocode above are not as expected. Using the grid below create a trace table to demonstrate
what the faulty pseudocode algorithm above actually does.

12



6.2.1) Start your trace table at line 3. The number of lines in the grid below is not exactly correct and is merely
provided for your convenience. Make a column for every variable, the calculation result, the condition, and the
output. The line numbers in your trace table must clearly show the operation of the loop. Suggestion — use a

pencil.
Line P * . é \
number | | Vv otz I ! < O (:1'0 « t

O 5

7

-

/5

2 &

3 A

25

30

ey N N N NG ol N R N TN TN W
(J
N

Jle el is 3,

<
S
A
\
\

13

(8)




6.2.2) Considering what the algorithm is supposed to do shown in diagram A in the previous question, correct the
algorithm in the space below. Reminder — you must code in pseudocode, not Java.

NOTE: Rewrite the whole algorithm starting from line 1. Suggestion — use a pencil.

inbovesPYer | =
=7

f‘ntﬁ—ja/;//l = {

oA = ©

L((;:O.j:b’; V< b+, i’-) —

= 7
- v [

~WnH W

(o= épéal+ (:’necjefli}rr/[_ij +

L
| nteger Arr 1_/:47 \

=

7 lead

/
3 A;‘slp/a? ‘/"TA& totel s " 4*6?)6‘&‘//)

(5) [21]

Grand Total: 145
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Addendum A

Question 2.2

Logical Logical  Physical Prysical
procassor 1 Wm‘iﬂfﬁ processor 1 processor2 B
n—-m—-w»-) S oo oy ) e .
gmﬁm. z;vmms! Archsiates ([ Arch slates
'imi il g {registers) ||}| (registers)
i aus ) [aws ||[Caws ]
ch ' | Cachets) |lli Cachets
SIS Y TS & S System bus
Main momory
Question 2.3
Computer One Computer Two
cPUCHp P, e
e . . { %ﬂ!ﬂcp{; ﬁ G’m‘i
| Procasser | | Processor eost" 19 || p :
Core 1 | Core2 access |
1 cycle
10 cycles
flain
g Memory :
100 cycles
\__ &reas of contention
Computer Three

15




Addendum B

Question 3.2

2 ﬁa; N { ; ;Jab
{f‘mccssar\‘ i Emall } i . )

i% g g

g i i
— ; >

|
_

-

— » 3
i

Operatingsystem-——

_ =

Question 3.3

s wisewo2h) HARD DISK

VIRTUAL
RAM MEMORY

b

o
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Additional Paper: Label your answers clearly
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